
Formal Geometry         4.4 Worksheet 

Do all work on your own paper! 

 

1)  Given:  𝐶𝐸 bisects ∠𝐵𝐸𝐷;  ∠𝐵𝐶𝐸 and ∠𝐸𝐶𝐷 are right angles. 
     Prove:  ∆𝐸𝐶𝐵 ≅ ∆𝐸𝐶𝐷 

 

 

 

 

 

 

 

2)  Given:  𝑉 is the midpoint of 𝑌𝑊.  𝑈𝑌 ∥ 𝑋𝑊. 
     Prove:  ∆𝑈𝑉𝑌 ≅ ∆𝑋𝑉𝑊 

 

 

 

 

 

 

3)   Given: ∠𝑊 ≅  ∠𝑌, 𝑌𝑍̅̅̅̅ ≅  𝑊𝑍̅̅ ̅̅ ̅, 𝑋𝑍̅̅ ̅̅  bisects ∠𝑊𝑍𝑌. 
 

        Prove: ∆𝑋𝑊𝑍 ≅ ∆𝑋𝑌𝑍 

 

 

 

 

 

4)  Given: ∠𝐵𝐶𝐸 and ∠𝐸𝐶𝐷 are right angles, 
                    𝐶𝐸̅̅ ̅̅  bisects ∠𝐵𝐸𝐷. 
 

        Prove: ∆𝐸𝐶𝐵 ≅ ∆𝐸𝐶𝐷 

 

 

 

  

 

5) Are the following triangles congruent?  If so, which 

theorem did you use?  

 

 

6)   Given: ∠𝐹 ≅  ∠𝐽, 𝐹𝐻̅̅ ̅̅ || 𝐺𝐽̅̅ ̅ 

        Prove: 𝐹𝐻̅̅ ̅̅ ≅  𝐺𝐽̅̅ ̅ 

 

 

 

 

 

7)  Are the following triangles congruent?  If so, which 

theorem did you use? 
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9)  

 

 

 

 

 

 

 
 
 
 
 
 
 
 

 

10)  Name the third pair of congruent parts needed to prove that ∆𝐴𝐵𝐶 ≅ ∆𝑋𝑌𝑍 using 𝐴𝑆𝐴, given the following 

information:  ∠𝐴 ≅  ∠𝑋;  ∠𝐵 ≅  ∠𝑌. 

 

11)  Given that ∆𝐴𝐶𝐷 ≅ ∆𝐶𝐴𝐵 and 𝐴𝐷 ∥ 𝐵𝐶, then what is the measure of ∠𝐶𝐵𝐴? 

 

 

 

12)   

 

 

 

 

 

 

 

 13)  

 

 

 

 

 

 

14)   

 

 

 

 

 

 

 

 

15)  Find the perimeter of ∆𝑃𝐽𝑄, given that ∆𝑀𝐻𝐽 ≅ ∆𝑃𝑄𝐽. 
 

 

 
  



Selected Answers: 
1)  Given:  𝐶𝐸 bisects ∠𝐵𝐸𝐷;  

∠𝐵𝐶𝐸 and ∠𝐸𝐶𝐷 are right angles. 
     Prove:  ∆𝐸𝐶𝐵 ≅ ∆𝐸𝐶𝐷 

 

 

 

 

 

 

 

1)  𝐶𝐸 bisects ∠𝐵𝐸𝐷;  
∠𝐵𝐶𝐸 and ∠𝐸𝐶𝐷 are right angles. 

1)  Given 

2)  ∠𝐵𝐸𝐶 ≅ ∠𝐷𝐸𝐶 2)  If a ray bisects ∠, then it divides it into ≅  ∠𝑠 

3)  ∠𝐵𝐶𝐸 ≅  ∠𝐸𝐶𝐷 3)  If 2 ∠𝑠 are right ∠𝑠, then they are ≅. 

4)  𝐶𝐸 ≅ 𝐶𝐸 4)  Reflexive Property 

5)  ∆𝐸𝐶𝐵 ≅ ∆𝐸𝐶𝐷 5)  ASA (2, 4, 3) 

  

2)  Given:  𝑉 is the midpoint of 𝑌𝑊.  𝑈𝑌 ∥ 𝑋𝑊. 
     Prove:  ∆𝑈𝑉𝑌 ≅ ∆𝑋𝑉𝑊 

 

 

 

 

 

1)  𝑉 is the midpoint of 𝑌𝑊.  𝑈𝑌 ∥ 𝑋𝑊. 1)  Given 

2)  𝑌𝑉 ≅ 𝑉𝑊 2)  If midpoint, then divides the seg into 2≅ segments. 

3)  ∠𝑈 ≅ ∠𝑋 and ∠𝑌 ≅ ∠𝑊 3)  If // lines, then alt interior angles are congruent. 

4)  ∆𝑈𝑉𝑌 ≅ ∆𝑋𝑉𝑊 4)  AAS (3, 3, 2) 

Note:  if vertical angles were used, could have proven this by using ASA. 

  

3)  3 steps                4)  5 steps                    6)  Yes, by ASA 

  

 

6 )   Given: ∠𝐹 ≅  ∠𝐽, 𝐹𝐻̅̅ ̅̅ || 𝐺𝐽̅̅ ̅ 

        Prove:  𝐹𝐻̅̅ ̅̅ ̅ ≅  𝐺𝐽̅̅ ̅ 

 

 

 

 

1)  ∠𝐹 ≅  ∠𝐽, 𝐹𝐻̅̅ ̅̅ || 𝐺𝐽̅̅ ̅ 1)  Given 

2)  𝐺𝐻̅̅ ̅̅ ≅  𝐺𝐻̅̅ ̅̅  2)  Reflexive Property 

3)  ∠𝐹𝐻𝐺 ≅  ∠𝐽𝐺𝐻 3)  If || lines, then alt int ∠s are congruent. 

4)  ∆𝐹𝐻𝐺 ≅ ∆𝐽𝐺𝐻 4)  AAS (1, 3, 2) 

5)   𝐹𝐻̅̅ ̅̅ ̅ ≅  𝐺𝐽̅̅ ̅ 5)  CPCTC: Corresponding Parts of Congruent Triangles are Congruent 

  

7)  Yes, by AAS.             8)  7 steps  

9) 
 
 
 
 

1)  𝑀𝑁̅̅ ̅̅ ̅ ≅ 𝑁𝑆̅̅ ̅̅ , 𝑀𝑃̅̅̅̅̅  ≅ 𝑃𝑆̅̅̅̅    1) Given 

2) 𝑃𝑁̅̅ ̅̅ ≅ 𝑃𝑁̅̅ ̅̅   2) Reflexive 

3) ∆𝑀𝑃𝑁 ≅ ∆𝑆𝑃𝑁  3) SSS(1,1, 2) 

4) ∠𝑀𝑃𝑄 ≅ ∠𝑆𝑃𝑄  4) CPCTC 

5) 𝑃𝑄̅̅ ̅̅ ≅ 𝑃𝑄̅̅ ̅̅   5) Reflexive 

6) ∆𝑀𝑃𝑄 ≅ ∆𝑆𝑃𝑄  6) SAS(1, 4, 5) 

7) ∠𝑀𝑄𝑃 ≅ ∠𝑆𝑄𝑃  7) CPCTC 

10)  𝐴𝐵 ≅ 𝑋𝑌  11)  90.6°  12)  B  13)  B  14)  A       15)  28.1 
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J H 


